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Paper / Subject Code: 71804 / Business Ethics & Qorporate?Soc1al Responsnblllty

c/ ,»‘9::‘:
Time 2 Hours & NTotal °1}_?I-',i'r'ks: 60 -
N.B. 1) All Questions are compulsory. s Ry M_<§“'
2) Figures to the right mdlcate{full marks; i P
5% o . L
Q.1 Answer the following: (Any Ty g = =(15)
a) Explain the characteristif of Busmess Ethics. A <~ ¥
b) What is an Ethics? Descrlbe their sources. \_I-‘_\j : ol
OR _
c¢) Explain any four approaches to Busmess Ethlcs R -\QJ' ¢
d) Describe the emergence of new values in Indlan industries ﬁost 199]
Q.2 Answer the followmg (Any Two) * (15__)-
a) Explain ethlcal 1ssues in Information Technology
b) Det‘ ine: Corporate Governance. Explain 1mportance of Corporate Govemance
% \ % OR _;%f.\- k, ;
c) What is an Audlt comm lt?ee'? DISCUSS the role of an Audlt comm tttee oy
d) Explam the consequences of fallu re of Corporate Govérnance - S P
& XS . , & .:\:j:“’ é»g@ ) g
Q.3 -_-'“‘Answer the followmg. (Any Two) N o J ha'e L) o

a) Explaxn in bri¢f the scope-of Corporate Social Responmbllmfy _
b) Expla1n the. concept of Corporate Phllanthropy and ltS types \’” &

S OR - _
c) Expla;n in brtef CSR practlces in Indla.nft:orporatlons =
—d) Descnbe the mte“gratlon of CSR into busmess operatlons

bk e 3 Qv
o A

0Q.4A) State whether the followmg statements are “True or False ] _.';3".." (8]
i) Plagiarism refers to. copying of others publlshed work A
«ii) The ISO 19011 audit standard apphes when auditing for both 9000 and 14000

A

compllance is requlred at'once. & ‘_\/\,
iii), CSRis a economlcal respons1b111ty of the company tow ards its various
stakeholders ; 4 o )

1v) The term “green, HRM is concemed Wlth HR act1v1t1es undertaken to achieve
envnronrnental susta1nab111ty o

V) Valuc determme what i is: right and what is wrong whlle Ethics relaes to doing what
«is right or. wrong : s

B) Flll in the blanks wnth approprlate optlon v Q)
SE)) - ~Series are: ‘principles-based standards to help organisations become
more accountable, responsible and: sustainable.

11) Fair Labour Association is concemed with industry.
& (Automoblle Galment F MCG Safety)
111)

theory holds that ends or consequences of an act determine whether
the act is good or.bad.

(Deontologlcal Teleologlcal Ut111tar1an Justlce)
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Paper / Subject Code: 71804 / Business Ethics & Corporate Social Responsibility

iv) is a bundle of rights glven by the law to the creators of mus:cal
and artistic work. (Copyrights, Trade Mark, GIS; Patent) $

V) - model of CSR is of the view that free market would take care of

CSR. (Ethical, Liberal, Static, Stakeholder) ;j_i"' an
- %,
< \w N .
C) Match the following: X RO
Group A : Groni”p B o
1. Deontological 'I:hé’i)ry 9 a) Aristotal - _
2. Triple Bottom Line b)Netherlands & _
3.Virtue Theory | ©) Immanuel Kant ~
4. Clean Clothes Campalgn [ D) R &D Activities i
5. Product Ethlcs , };“3 e) John Elkington
Q. 4 Write short notes (any three) X (15)
a) Steps in- demgnmg CSR pollcy A >
b) 1SO14000 __
c) Functions oQUNDP & & K : = S
d).‘CSR and Sustatnable Devclopment o Y : o3 a5
e) Ma_]or codes on CSR 7 ' &
oxv v 2 / \M‘s &v :g%j .
;’/:a .\z\
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Paper / Subject Code: 71803 / Cost & Managemenf“ﬁccountmg

Me oo I v
Sem~1 & & .
Q@ Hours) = [Totgl l\’[arksﬁﬁ]

P
£t
L

Instructions: S =
i.  All questions are compulsory and" subject to mtemal chonce
ii. Figures to the right indicate full. marks. -

iii. Make suitable assumptions whenever requlred and state them 4
iv. Use of simple calculatorls allowed - X o I

Q1.

A) TVS Tyres Ltd had budgeted prodqcnon of 10 000 umtsxThe expens»es are as, f‘oIlows

15 Marks]
Particulars oo L Do & _ Cost Per Umt
Materials cost i = U ) » f. 701
Wages cost .=~ &8 2 257
Direct Expenses N i o)
Variable Overheads .~ N ( &y -~ v 20
Fixed Overheads (Rs.1,00 00(1)‘ - S o o’ 104
Administrative Overheads (Rs. 50 ,000) Cl 00% fi xed) &’ N 5.1
Selling Overheads (10% Fixed) 3 P A 13
Distribution Overheads (20% Fixed) : o = 7

Prepare a Flexible Budget for the’ productlon of 6 000 units, 8, 000 umts and 10, 000 l’lmts
/ showing Varlable Cost F 1xed Cost in Total -and Cost Per Unit at’“"each level»«of produetlon

i " " OR{.. - .m\_’_;v_.h \c(:E
B) | \ . -.“ ‘ y < [15 I\da l"kS]

"The fol]owmg mformatlon is’ extracted from varlous funct1onal budgets*prepared for Ajanta
Ltd. You are required to preépare a cash' budget for three months ending 30" June, 2022.

AV, -

Months |~ Sales - Materials <Wages I Overheads
February ~[ 3,00,000 1,88,000 60,000 32,000
March. > | 3,00,000 1,80,000 60,000 36,000
April 4,00,000 |- 1,80,000 64,000 40,000
May 5,00,000 | 2 ,00,000 72,000 44,000
June . 3,60,000- 2,20,000 ~.80,000 48,000

Cash and Bank balance on Ist April, 2022 is expected to be Rs. 1,60,000
! Credlt terms are Sales/Debtors - 20% sales are on cash, 50% of the credit sales are
collected i in next month and the balance in the following month.
3. Credit extended are as follow: -~
Creditors - 2 months,
Wages 1/4 month'and
Overheads 1/2'month '
4. Machinery ata cost of Rs 10,00 000 will be installed in February 2022. The instalment
~amount of Rs. 50,000 p.m. are payable from April, 2022 onwards.
5. Annual.interest at the rate of 10% p.a. is prov1ded ona Bank Loan of Rs. 12,00,000,
- whichwill be pald on Ist June, 2022.
6. Advance of Rs 1,40,000 is to be réceived from the sale of assets in June, 2022.

N —
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Paper / Subject Code: 71803 / Cost & Bg@n;gemthfAccougtlng o

Q2. : . '
4 L E & [15 Marks}.
Stand.a'rd : -;__j'?\ctual_ : :
Product - Rai :
sQ| 'sp -~ sc AQ| apf SAC
X 800 50| 40600 S S
Y 4001 200 Booo| - aso| a5| 12,000 |
z 20 Sis| U zp00  igp 15| 2,700
+ o L0 w5100 1500 | spse]
Normal qu§ 50 * < Tk o150 \,?52*4 * | E S
[ Total | ca3so] x| Tspepe| 1350+ | 2
From the above information calculate thgej,.'ffOIlowing;f"\;ériances;:"'“ » . ; N"‘
a. Material Cost Variance 4 o
b. Material Price Variance >
¢. Material Usage Varjance
d: Material Mix Variance
~"e. Material Yield Variance
i ' OR &
Q2. ;s g

comprises-of 360 days. The. followingcosts were’ incurred: during the year ended
T31-122022, O ¥ ' O

[ Particulars _ ¥ M Rs.

Salaries to Staff o 4 : 3,00,000

Rates and Taxes : ' 2,95,600

| Electricity - ' > 3,20,000
Depreciation on

Building ¥ 1,80,000

- Furniture: 30,000

| Equipment _ ) 40,000

_Sundry Expenses - _‘__—7566_0‘

A room attend_éﬁlt is pald@ Rs. 36 per day per room when occupied.

Food cost Rs.30 per customer per‘day.
Asceﬁgin the amount to be charged PEr customer per day to cover both, accommodation and
fogg;‘cfbsts, ply&'proﬁt @il_ﬂ% return on capital employed which is Rs. 3 1,36,000. -~

[15 Marks] -
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Paper / Subject Code: 71803 / Cost & Mgn'agem qufﬁccoun;\i_ﬁé

"y

N
¥

Eés
\.__"‘. s,

w.:{

Q3. : & o

A) Following is the cost structure of an en gmeenng product manufactured by NTCO Ltd
Particular : Amount Rs. (Per Unit)| Q}
Material ; > 2,000 oY L7
Labour : o el 500 o
Variable 0verheads ' % 0500 &Y
Fixed Overheads 1000 [
Total Cost. 4,000
Profit - X 1,000
Sales Price 4 5,000 |

The above cost structure is based on 50,000-units p.a.. The comp;
selling price per umt bilt want to keep the total profit i mtact

¥

You are required to prepare proﬁtablllty statement showmg the posxtro;n 1f sellmg price is
\[15 Marks]

reduced by IS% and sellmg price is reciuced by 20%

/._ = g ™
o

OR %)

1

o
b .
i o \..\ L &
3 % e % e
. p o

B) The! Asian Industnes speoi*alrze in_the manufacture of (_sm.al.l capacity motors.'The Cost’""

Stnii:ture of a:motor is as under:
Matena% Rs.50
Labour Rs. 80 A ;
Variable overheads 75%:of labour cost. ;
Plxed overheads of the company amount to’ Rs 24 lakhs pe
The sale price of the:motor is Rs. 230 each

!

any propose to reduce‘the

¥

("{

w

T annum

-\.
\v

(VI Determme‘the number of motorethat have to be manufactured ana“sold in a year

=i order:to achleve break-even
(i_i)"‘;’ How many motors will have to be made and seld to make a proﬁt of Rupees
< OneLakh per vear? - A8
. (iii) If the sale price is reduced by Rs. 15 each ‘now many motors will have to be
“sold to aohieve break-even" " . [15 Marks]
A) Multlple Chonce Questmm' [8 Marks]

.The entire Budget of the organi-zation is.c_oﬁtrolled_aﬁd headed by the senior executive

* known as 4 eh
ar General Manager :
b Accountant

d. Budget Controller
~2. Bud get period depends on _

v 8- Technical Policy -

) =b.  Goyernment ]JOIlcy

Coe. Social policy- " :

d. Managementpolicy -

i,
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Paper / Subject Code: 71803 / Cost & Management'A ccounting

iy Y

3. Standard cost is a
a. pre-determined cost
b. profit variable = 5 A
c. Fixed cost 2
d. Variable cost e 2

4. Sales Value Variance is said-to be favourable when:
a.  actual sales are less than budgeted sales -~ , :
b.  actual sales are more than budgeted sales 2 ® &
¢. When actual __s__a_l_és are eqn_a”{ to budgeted sales - e S
d. Actual pric.e-'fé“"more than 'budgetegl price & Noad

5. organisations should not be advised to use service costing. o
a. Distribution service ‘ - Sy ; !
b. Hospital K ¥ " :
¢. The maintenance division of a manufacturing company -
d. A light engineering company A X

6.If the profit is 50% of the operating cost, it is ........ ++--.... of the invoice price,

obr 25% ¢ Posg o
'NC. 16.66667% f. . 2 ‘ A\ ' 3
S do 33:33334% o K ) o &
7. BEP is the point at-which thefe i profitand loss.. &
: a.“Minimum, maximurm A3 28

B’ No, N 3 $ S &
~e. Maximum, minimum 2 A’ e
© d. Fixed, Variable o o Kol o
8. Make or buy decision arise wheh a company with unused production capacity considers

A 4y W
" 5,

WS
S
22
K
ol

45y o Y S
i, % . o

A to use ai)ailable capacity to produce the items withi}i the company
to import goods from foreign market - Gk &)
to.use the existing production facility :

to avoid taxes on purchase of goods

oo o

Q4. \
B) True or False; _ : e
' 1. Total budgeted fixed costs appearing.on a flexible budget will be the same amount
as total fixed costs on the master budget. .
2. The use of budgets in controlling operations is known as budgetary control.
3__W.,Overhe.angariance “is nothing"!""but variation ‘in the absorption or recovery of

* overheads. RS Z
4. Revised Standard Quantity for each input is required to be computed for calculating
e Material Price Variance.

5. Details of the Jjourney. is shown by the daily log sheet.
6. Taxes is a fixed cost in the opetating cost statement,

~7. The profit calculqtéd under absorption costing and marginal costing is always
equal.
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Paper / Subject Code: 71803 / Cost & Management Accounting

2 E % .\\%\_
OR ‘ o A
C) Write short notes: (Any Three) o
a. Angle of incidence S K g o :
b. Standard Costing v/s Budgctary Control o F %2:5'{'
c. Overhead Variances o oY 2 B
d. Sales Budget Q' o L > o 3 o
e. Operating Costmg of Transport Serwcesw A~ £’ oy
i, - '_" :'f' 1 L,
( S 5 r \ b
> . o v L
"\:% Py > \_ : 3 o)
-:\, '\'-'- : Fa '-«‘i‘: .
e % Wl -~ ; )
e % 4 < ) )
.; [V b : R
e \ . :
Bt & | a g : = 2" ;
N 4 _«..:?‘fw N X ««5& o,
i 2 et 4 P ;.
.';_‘{. 3 " X3 ! = "' ! (""\\ R
P = o .yl e A
: R - o o v
a oY \‘ g el .'
g .\_&., . A o v o
. _‘\.“" \.(-..__/"- ( St ¥ : .
Fa) o 2 ) &
37 B e T N -
{ . ; by N
«/“ ;g = 'K.\/ . -Iho&
-~ X < 2 - | -
/f\ At _ _v i i " “; - ¥
> ) Rl g
& 2 5
o : o Sy %
o :
e _ & :
N
> i Lt
&
e
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Paper / Subject Code: 71802 / Economlcs for Busmess Declslon

£ Qo ; S
Time : 2 Hours Total Marks 60

Please check whether you have got nght questlon paper s

N.B. 1. All questions are compulsory
2. Figures to the right mdleate full marks

3. Draw neat d:agrams wherever necessary s -~ .
1. (a) Explain the theory of attrlbuters in detall i > o (8)
(b) Discuss the consumer S equ111br1um with the help of indifference curve and pnce line: -
po A % g :}-. \”:‘ﬂo _Nf (7)
(c) Whatis snob effect? Discuss how it is dlfferent from bandwag%n effect it ) .
(d) Explam the paradox of bumper harvest R JECall () e S
2. (a) EXplaln the law of variable proportions with su1table dlagram 5 il ¢)]
(bl Bring out. the rel atlonshlp between AFC, AVC, ATC and MC W1th the help of dlagram
. OR N By
- (c) Explam production function with two variable mputs and show economlc reglon ‘of
procluctlon with the help of ridge lines. e on ®)
(d) Discuss dxffcrent kmds of 1ntemal economles in detall Racd S ™

T

3. (a) What is: market structure'? Identlfy the ma] or dlﬂ'erences between perfect

competltlon and’ imperfect competltlon o ®)
o (b) What is monopollstlc compention'?"‘Explam its: broad features 5 ™)
‘;M.A” OR K: 3 -
5 ©): DISCUSS in deta,ll dlﬂ"erent sources of Monopoly power C““ 3)
\ (d) Explain with a suitable diagram how a dommant f irm will deelde the price and output
' under colluswe oll gopoly e @)
4, (a) Choose the nght opnon from tlre following N )]

= i Opportumty cost of resources already owned by the firm and used in business is called

a) Imp11c1t cost
b) . Explicit cost.
c) ‘Historical cost
\d) Social cost

. Market failure takes place due to
a) Perfect information..
b). Private goods
¢) Public goods.
~d) Perfect competition.
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Paper / Subject Code: 71802 / Economlc -for Bus;\ ess Declswn ”}

Y

iii.  Total revenue minus total costs 15 S . % [y
a) Economic profit a9 &
b) Accounting profit. s
¢) Negative profit. o

d) Unexpected proﬁt. W 3
iv.  When there are ncgatwe extemahncs the prlce shoulﬂ be adj Justed so that

is ;

a) Social cost.

b) Private cost. : ' ~

¢) Historical cost - K

d) Mone}i cost X

sy

v. The productlon pOSSIbllltycurvc 5 % : :
a) -Convex. : >
b)- 'Concave: - __ _,,\f-_:;-

-.€) Circle,. s \ o e :

+d) Straight line. 2 il

Vi, Econom:c mefﬁclency can be corregg,‘éti by recjuciﬁg
a)."Production x '
A0 _N;b) Employment e X,
~¢) Wastages B g N
) Competitlon "

“vil. A personal caris an example of o o
' a) " Public good
~'b) Merit'good

s > e) Dement good.. . ‘
N d) Prlvate good ' N <&

Tb) Give preclse meamng of the following Y = ®)
.2) Business Economics :
) Market economy )
c) Margmal principle Lo
d) Invisible hand i
; OR
‘4. Write short note__on any three of the following - (15)
~.a) Market failure
b) Determinants of demand:
c) Applications of elasticity of demand
d) Leammg curve, &
e). Basic concepts of game theory

"XXXXXX

20992 Page 2 of 4

0A664c21DE357533;;i39A546A9c3 13348
; s
-} 3

i .-‘\.".n'
i



Com ”J)CU/'P 1. Qﬁm sz k ><+c,-nab Exaﬁuﬂmtff) &

Duration: 2 hours _' v _,\"_«i'? Mﬁ"rks 60
Note: 1) All questions are compulsory and cames 15 marks each. _' ) P '33 ;M
2) Figures to the right indicate full mgﬂks. V: | A\\':; ' fl‘: ) ,Q*
Q1. a) Define strategic management anﬂ\{i.liscuss itf‘s‘beneﬁts'?%‘ j: ’\’\ f{.-f_: 5 ¢
b) Explain briefly the businessIex el strateg]ts of an 6r£m1satloo 3 ; . ”‘m a
& § o & ’- ,r

d) With the help of examples e:iﬁ]am the macro envu'onmental factors of bﬁsmess ‘;’,
¢ %* "\)“
Mot 4 \‘:3 L £ . o _l-\ : k:‘“x
Q2. a) What is Jomt ventu:Q? Explam t"he types and advantages of j _|omt venture 15
b) Wnte a~note on QWOT analy31s ’j nw ei‘;’*‘v‘
o R ,_’~-_'.Z
/ '»,, ! l_.ﬂ,‘t ;WX; f? g % I "4
2 & OR: -

5
S 5

e)ﬁescnbe the steps mvolved in strate gic lmplementatlon process‘

Re d) Elumd@te the advﬁ:l:l\tages of: budgetary controI A >

»‘\:‘; Z..'m- \ A"t &‘N/W % \\‘3’ ; PR 3
NG wi} \Q X & - .’3 S {\%j
Q3 a) Elaoorate on the mtemal and extemal causes of corporate renew‘él I8 15
_}"\ i‘:\\f«'
0,7 A 37) What 1$strategxc glﬁance" Ex.plam the problems oﬁ ateglc a\hances 3

& ‘:,.,'\_? > ;\, g OR ::: : _:___".:;‘
c) Explam the govemmg_strategles of PPP model in [ndla P ; :
<:i) Explam the llmlta&lons of hlformanon T&chnology in busmess.
Ak o s :
. ;" 4 %\‘ i » \wf o \ * w . __. 2 &_%-:-;.
S ¢ Q4. A) Select the gpproprlate option and fill in the blanks Y 5
& ) - The term ‘Strategx is taken tﬁ)m the "~ 3 word *Strategos’.
_ % a) Greek b) Latm ¢)F rénch gl)‘ﬂapanese”
o\ -v;:é isa strategy to covert loss- makmg unit into profitable again.
a) Tumaround b) Dlver51ﬁcat10n c) Liquidation d) Growth

& 3 qn BCG mat\ﬁx the feature of .~ low industry growth and low market share.
a) Stars 'b) Cashcows c). Questlon marks d) Dogs
: »‘4;:”—" isa physwal effect of disaster.

e

a) "Trauma b) loss of employment® c) Social evils d) Death

s 5. The Govemment of India launched the Start- -up India Movement on 16 January,
. catNew Delhl !
La) 2000 b) 2016 c) 2020 d) 2022
21407 ‘ Page 1 of 4
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Paper / Subject Code: 71801 / Strat%fé Mangﬁléhlent E
& “:N. ;

B) State whether the following statements are Tru or False.

1. The analysis of external environment. helps to 1dcnt1fy the ;tf“ength and@veakness Of 'L‘*
organisation. 3 R & { ﬁ : Q)

2. Diversification is a combination Qi’“’fwo or mn\i’e compaﬁ\es into one compan? &
3. Strategic evaluation and control-are the fi r;f} phase o§§trateg1c @magemcnt process, - =3

4. Information Technology is gw lin ev&i? phase Qi{'strateglc anagement aw-

5.

The Government of India has set up LQ‘E Natlonabji)lsaster Managemen’t‘Authorlt? with %

Prime Minister of India a Chairpétson. A I
33" all}i Q\ o
C) Match the Following: A Eoud &3 PN
- “.~-' Sy S T
s S & o
‘\?’\ . »»:‘gv

Group AT 5 _
1. Product modlﬁcatlon Sa. Wlndmg up of. busxness \,

Pl

nY Group B ,av;

2 quuld’”?lon Strategy o Mé}'ket Leaders _ m‘ *@, o 4
e = o M ™
< - ; = o
3. ET@P s & (;_5 Marketmg Strategyw ‘{::«. » o
4. Si“ars t‘g & i Re-orgamsm g of‘busmess BN A’ o
— N
5\ Corpog;tc Restructﬁnng e Eyyuonmentql Analysgg: ) o
\ b o TN AL P <y
s N ) é""’ o o s Y N o ud
AN oy i A4S Y N E o
2’ & oV 3 e oy 5 o> &
’513 o’ e o '.>§*’ AY Qs e
< QD oF OR A A3 A7
Rt -» ,«(\Q ™ & N R e G
2 ‘*».". oY Bt ALY )
Q4. erte Short Not\e on: (any 3) \\.? o A o * 15 marks
A i P
; > £ BV &
i % oy By N o
& 1. Reasons fmL growmgVBPO in Ingaa o o I
\ AN Busmess\Process R;?engmeenﬁ‘g R S &y o
i e A0 )
/3. Consequences o isaster & Ry & i
o 1 ~ " o e
o 4. Stat:;,-ups and its challeng K ) o >
1 . o Makc in Indﬁt Model ~ e <8 ol &
", ¥ Pl Ly Py
ot il s _;} 5y — T
Y 4 g Q‘* ; o < S
9 y: \ . oS ?:
o S - e . 4
7 . y by q o 7 . o, %,
x‘é“ f" ,.‘-I_M Vs ik e
o B IQI\" y o)
O o : SN
2 o L L 4
. A S0 v N
) g AP \Y A
o /1\’ &y A o
0 R K A &
e A Aoy ,‘r_\ N
A oy I o~ P
o R o o S
o Q> R o A A
P e & > Q ok
— S T iy A S
' S ok < o oy
::;“ § 4 > "’h}: m:ﬁ J ;“_:' i
\ ot ol s Viés X
S ) e s iy
¢ ) 4 o]
\..-f $\
N ..\\‘%‘::. r B
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